25

SAGA204BRAM—vAS MEER (XF) - WiEk—K

2

2024/10/11 9 :30R4%E

o
' vy (raEmix)
(OB (0B 0 2 n3TE
No @54 ua ziam ED | eumn [womus R REGME HE
DEXTB 100m X (E) =
| 3
| o T Taioons (2R G0 FAR |8 #E A —{ MR kit ARG
REBF 400mH |52 e . =
2 REDESHES |4x400mR {28 (BW) MR (M H ST-WAKO - |XE xB EAGLERUNERZ
3 [PERTE 100m  |=R (X RBR BB B LB = [AR B8 REFEAET
3 |RfE Pl s [4x100mR |Z=R (W) ZHR |ATF =M bRk = (&8 ot Emak
PERTFB 110mH  |Xf4 (£F) 2 =
: s L =
5 s EREET fooomr [2R @D s} PO sRSRLh [ —uE 8k RUSEBHRE
REDTF 100m  |%R& (FE) >
B vicss Py T Fh—L4
S B ERERT [moR R Gl o [bE AR > # 77w
7 |REBF 110mH {3 (TF) EBR [Fbl @5 €Y - (W5 W G AR IE
HERTF 100m__[ZR @B = |
8 [REVEFDBF |4x100mR [ZR (HH) ARG LB R ik [~ |Bg *m KRS
REDEBICRS |4x400mR R (XW) 2
RERT Pl B E0) =
%] — = SAC
9 S E S ERART J4100mR [ZR &D #mam R B [e4]:F:8T: PN — FE Bt H T TWing
10 |2 EBFB 3000m  |XR (BB HRR | /nh BRI o |hi =5 BELRERK
11 [PEBFA 5000m  |Xft (EE) ERR [$H £ RETHE = (BN &K SEIREE
REDERXBRT [4x100mR |32 (BRE) o [FFINnL RFoFF |MARAHEAD
12 FTTEN v = KRR |4 B3R bk =
13 |BEBT 400mH [0 (W) WHE |BEA % BRRBA = &4 an SEEA
HERITFA 100m [0 (W) _ = .
14 D EREET |6xi00mR 2R (ED HER R WEFF4T7 |REDR = @8 F BRERZE
15 [MELT 100m [ (39 ALR |BE H% TRPER > @ 4 Bl EREES
O | 6 e £ABF [4x100mR. 2R () saR les gy - Wk 2 = &% K uske
RERT 300m__[%f (B0 =]
17 |[REEHE#BBF [4x100mR | (H38) BaR kR » Li:FS=w s = | oK S SRR
REVEBRXRS |4x400mR [ZR GEX) =
REDBF 110mH  |=R BB »
8 tl dt
! REDERIRS [4x100mR |3 (3) L S [rREx = s B2 WA
RERTF 100m  [fe (RE) - mE & £ EZRBHT
19 W SR
REDPERDEF |4x100mR |ZR (TFE) BRRE B = |\E BE BB
PERFA 300m [t (8 =]
20 [REDFHART [4x100mR [XR (X}) BuR [>ov pa REBELE  [= |Sos @F REFLTHLE
REDEBIES [4x400mR R (HIE) ,.
21 |REPERARTF |2x100mR [ZR @) N PHPERAR | TR KE #0247
SERFA 100m _[=R (@D =]
22 |[REDERBRT |4x100mR [XR (EE) 2R |1 s8R BT = |eg =@k ETH
REEDERIRS [4x400mR [XR (TE) =
DELFA 300m 8 (F38E) = |kl HP P ik
23 [MEDERBHLT |4x100mR |ZA (W) KAR B sk Kxapas |- [En as WREFAX
REDEBIRE |4x400mR [ (W) = HEE % KAERE
24 |RESERA KT [4x100mR |3 (F3E) kSR |AE am BIRFER = £ BE KR AH
%5 [RERT 800m %R () ERR  |BEO ki Team SSP = (BN @X BEATX
HERTB 110mH | (33) =
6 3 — A
2 AR ERBRT |400mR 2R () BER |<B RBR $BaEDP = s A b:E30]
DEBFA 300m |0 (ZH) B
27 [RiePEFBBF [4x100mR [ZR (XW) BIER [ BXH KFR = |a@ ke TS
RAEDEDBIRA |axd00mR |XR (W) =
HEBFA 300m R (FH) =
28 {REVEIABF [4x100mR |3 (3EH) BWER SN X IRIBRS 1 | {EER AR [2]::F 211
e DERZRS [ax400mR |35 (W) =
29 {AHEHFA 5000m |®R (EF) hOw B8 ki |BER® = |EMA 6 FEHES
DEBFA 300m TR (W) =
30 b s -
REDERERA |4x400mR X/ (FEE) HER |68 B8 MR S B HIVIXHR
DERFB 100m  |mm -
29 YT Toomn | HRAGW |HE w3k RRERE —
30 |EERTF 5000m [Tk BiR |H& #H Bex id
31 [bEBFA 5000m  |=e maR  [#F BX PRENG =
32 |RESERLBE |4x400mR [SRHE |BaR =




